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West Bengal Police Constable (Preli) Exam. Practice Set
Answer with Explanation

1. (b) !î!þ™˜‰þw þ™yœ ò¦þyîûöì“þîû xydyó SThe Soul of IndiaV
@ùÌsþi!Ýþ îû‰þ˜y „þöìîû!Šéöìœ˜Ð !“þ!˜ !Šéöìœ˜ ¦þyîûöì“þîû ~„þ‹˜
²Ì…Äy“þ ßþºy•#˜“þy ¢‚@ùÌy›#– ¢y‚îy!”„þ ~î‚ öœ…„þÐ !“þ!˜
ò!î²Õî# !‰þhsþyîû ‹˜„þó !£öì¢öìî ¦þyîûöì“þîû £z!“þ£yöì¢ þ™!îû!‰þ“þÐ

2. (c) òxy†y …y˜ „þyþ™ó £!„þ ö…œyîû ¢öìD ë%_«Ð £!„þ ö…œyîû ¢öìD
ë%_« x˜Äy˜Ä þÝþÆ!šþ=!œ £œéôô S1V ¢%œ“þy˜ xy‹œy˜ Ÿy£
„þyþ™– S2V •Äy˜‰¤þy” ÝþÆ!šþ– S3V ÞÝþÄy˜!œ „þyþ™Ð

3. (a) 1955 ¢yöìœ ¦þyîû“þ#ëû ˜y†!îû„þc xy£z̃  þ™y¢ £ëûÐ ¦þyîû“þ#ëû
˜y†!îû„þc xy£z̃  !˜Á¬!œ!…“þ vþzþ™yëû x!‹Å“þ £öì“þ þ™yöìîûéôô
S1V ‹§Ã¢)öìe ˜y†!îû„þc– S2V î‚öìŸyq(“þ ˜y†!îû„þc– S3V
!˜îõþ˜ myîûy ˜y†!îû„þc– S4V ßþºy¦þy!î„þ#îûöì’îû myîûy ˜y†!îû„þcÐ

4. (d) ²Ì„,þ!“þöì“þ ›%_« xîßþiyëû ²Ìy® ¢yœšþyîûöì„þ †õþ„þ îöìœÐ
5. (a) ¢yœyœ ‹œ!î”%Äê ö„þw ö‰þ˜yî ˜”#îû çþ™îû !˜!›Å“þÐ ~!Ýþ

‹Á¿% ç „þyÙÂ#öìîû xî!ßþi“þÐ ~!Ýþ ‹Á¿% ç „þyÙÂ#öìîûîû î,£_›
‹œ!î”%Äê ö„þwÐ

6. (a) ¦þyîûöì“þîû ¢‚!î•yöì̃ îû 154S1V ˜‚ •yîûyëû îûy‹Äþ™yöìœîû £yöì“þ
îûy‹Ä þ™!îû‰þyœ˜yîû ²ÌŸy¢!˜„þ Çþ›“þy x!þ™Å“þ xyöìŠéÐ

7. (d) ò£¡ìÅ‰þ!îû“þó îû‰þ˜y „þöìîû!Šéöìœ˜ îy˜¦þRÐ îy˜¦þR £öìœ˜
£¡ìÅî•Åöì̃ îû ¢¦þy„þ!îÐ ò£¡ìÅ‰þ!îû“þó @ùÌsþi!Ýþ ¢‚ßþ,ñ“þ ¦þy¡ìyëû îû!‰þ“þÐ

8. (d) „þëûœy– „þ‚öì@Õy›yöìîûÝþ– vþöìœy›y£zÝþ ²Ì¦,þ!“þ þ™yœ!œ„þ !Ÿœyîû
vþz”y£îû’Ð þ™yœ!œ„þ !Ÿœyöì“þ ‹#îyÙÂ ö”…y ëyëûÐ

9. (c) ò£z!uþëûy˜ £z!uþöìþ™˜öìvþª !œ†ó ~„þ!Ýþ îûy‹÷ì̃ !“þ„þ ¢‚ßþiyÐ ~!Ýþîû
²Ì!“þÛþy“þy £öìœ˜ îûy¢!î£yîû# î¢%Ð !“þ!˜ 1940 ¢yöìœ !¢Dyþ™%îû
£z!uþëûy˜ ˜ÄyŸ˜yœ xy!›Å ¢%¦þy¡ì‰þöìwîû £yöì“þ xþ™Å’ „þöìîû!Šéöìœ˜Ð

10. (a) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 350éôéS~V •yîûyëû îœy £öìëûöìŠééôô ²Ì!“þ!Ýþ
îûy‹Ä ¢îû„þyîû ç ßþiy˜#ëû „þ“Å,þþ™Çþ ~›˜ îÄîßþiy @ùÌ£’ „þîûöìî ëyöì“þ
¢‚…Äyœ‡% !ŸÖîûy ²Ìyí!›„þ hßþöìîû ›y“,þ¦þy¡ìyëû !ŸÇþy öþ™öì“þ þ™yöìîûÐ

11. (a) þ™yîû!˜!¢ëûy¢ xÄy!˜!›ëûy !¦þÝþy!›˜ B12éôé~îû x¦þyöìî ‡öìÝþÐ
!¦þÝþy!›˜ B12éôé~îû îûy¢yëû!˜„þ ˜y› ¢yëûyöì̃ y ö„þyîy!œ˜Ð ~!Ýþ
ö„þyîyÎÝþ ö›ïœ !˜öìëû †!àþ“þÐ

12. (b) òö“þ¦þy†y xyöì̈ yœ˜ó 1946 ¢yöìœ þ™!Øþ›îöìD „,þ¡ì„þöì”îû
ö˜“,þöìc ¢‚‡!Ýþ“þ £öìëû!ŠéœÐ

13. (a) ¦þyîû“þ#ëû ¢‚!î•yöì˜îû ²Ìhßþyî˜y!Ýþ îû!‰þ“þ £öìëû!Šéœ þ™![þ“þ
‹ç£îûœyœ ö˜£îû& myîûyÐ

14. (c) £zç!¢öì̃ y!šþœ ˜y›„þ öÙ»“þ îû_«„þ!’„þy öíöì„þ !£ÞÝþy!›˜ Çþ!îû“þ
£ëûÐ öÙ»“ îû_«„þ!’„þy Ÿîû#öìîûîû öîûy†‹#îy’% •¹‚¢ „þöìîûÐ
öÙ»“ îû_«„þ!’„þyîû ‹#î˜„þyœ 13éôé20 !”˜Ð

15. (b) ö²Ìy!Ýþ˜ ‹y“þ#ëû …y”Ä ¢Á™)’Åîû*öìþ™ þ™y!‰þ“þ £öìëû ¢îöìŸöì¡ì
xÄy›y£zöì̃ y xÄy!¢vþ ¢,!ÜT „þöìîûÐ

16. (c) ‘Economic History of India’ î£z!Ýþîû öœ…„þ £öìœ˜
îûöì›Ÿ‰þw ”_Ð

17. (b) îû_«‰þyþ™ ›yþ™yîû ëöìsþfîû ˜y› !ßþ³þ†öì›y›Äyöì̃ y!›ÝþyîûÐ
18. (a) ¦þyîû“þ#ëû !îû‹y¦Åþ îÄyBþ ²Ì!“þ!Ûþ“þ £ëû 1935 ¢yöìœÐ ~!Ýþ

¦þyîû“þ ¢îû„þyöìîûîû îÄyBþyîû !£öì¢öìî „þy‹ „þöìîûÐ î“Åþ›yöì̃
¦þyîû“þ#ëû !îû‹y¦Åþ îÄyöìBþîû †¦þ˜Åîû £öìœ˜ ¢Oëû ›yœöì£yeyÐ

19. (c) 1929 ¢yöìœ œyöì£yîû „þ‚öì@ùÌ¢ †!àþ“þ £ëûÐ œyöì£yîû „þ‚öì@ùÌöì¢îû
vþzöìjŸÄ £œ ¦þyîûöì“þîû ‹˜Ä þ™)’Å ßþºy•#˜“þyÐ

20. (a) !˜!…œ ¦þyîû“þ öÝþÆvþ £zvþz!˜ëû̃  „þ‚öì@ùÌöì¢îû ¢¦þyþ™!“þ £öìœ˜
œyœy œy‹þ™“þ îûyëûÐ ~!Ýþ 31 xöìQyîîû 1920 ¢yöìœ †!àþ“þ
£öìëû!ŠéœÐ

21. (d) ¢Á±!“þ x!œ!Á™öì„þ x¢y›y˜Ä xî”yöì̃ îû ‹˜Ä x!œ!Á™„þ
„þ!›!Ýþ òx!œ!Á™„þ xvÅþyîûó ¢Á¿yöì̃  x!¦þ˜î !îwyöì„þ ¢Á¿y!˜“þ
„þöìîûöìŠéÐ

22. (a) 2030 ¢yöìœîû 26“þ› þ™Äyîûy x!œ!Á™„þ vþz£zrÝþyîû ö†›¢
x˜%!Ûþ“þ £öìî šÊþyöìªîû öšÊþMþé xyÒöì¢Ð

23. (a) 2024 ¢yöìœ þ™%îû&¡ìöì”îû ~!Ÿëûy „þyþ™ !e«öì„þÝþ Ý%þ˜Åyöì›rÝþ
xyöìëûy!‹“þ £œ ¦þyîûöì“þÐ

24. (a) 29 ‹%œy£z ¢yîûy !îÙ»‹%öìvþü ™y!œ“þ £œ ò£zrÝþyîû̃ ÄyŸ˜yœ
Ýþy£z†yîû övþóÐ ~îŠéîû ~£z !”îöì¢îû !í› £œéôô ‘Call for
Action’Ð

25. (c) ¢Á±!“þ ¦þyîû“þ ç ×#œBþyîû ö¢˜yîy!£˜#îû ›öì•Ä x˜%!Ûþ“þ
öëïí ¢y›!îû„þ ›£vþüyîû ˜y›éôô Mitra Shakti-2024Ð

26. (d) Excited
27. (c) Reminds
28. (c) False tears
29. (d) remember
30. (a) Aborigines
31. (b) daring
32. (a) after
33. (c) Often
34. (b) All the details
35. (a) at
36. (d) (31 = 3, 32 = 9, 33 = 27)

(41 = 4, 42 = 16, 43 = 64)
(51 = 5, 52 = 25, 53 = 125)
 10éôé~îû ßþiyöì̃  9  ¢‚…Äy!Ýþ £öìîÐ

37. (b) ~„þ£z¦þyöìî

H
J
I
Z
T

M
O
N
E
Y

+5
+5
+5
+5
+5

N
O
V
G
Z

S
T
A
L
E

+5
+5
+5
+5
+5

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 10  öšþîÊ&ëûy!îû– 20252

38. (b)

N

OP

E

FG

A

BC

R

ST

~„þ£z¦þyöìî

H

IJ

U

VW

G

HI

39. (d) 8 – 3 + 10 × 2 ÷ 5
= 8 – 3 + 10 × 2 ÷ 5
= 8 – 3 + 4 = 9

40. (b) ²ÌÙÀ!Ýþöì“þé ö”çëûy ¢î ˜Áºîû£z 13 myîûy !î¦þy‹ÄÐ
41. (b) (3 × 3) + (6 × 5) = 39

(4 × 4) + (5 × 7) = 51
(3 × 4) + (5 × 5) = 37

42. (b) 4 9 36 6  

9 16 144 12  
16 ? 400 20  

îy– 400? 25
16

 

43. (a) ›y %̃¡ì

þ™!
[þ“

þ

¦þy
îû“

þ#ë
û

!„þŠ%é ¦þyîû“þ#ëû £œ þ™![þ“þ, xyîyîû !„þŠ%é þ™![þ“þ £œ ¦þyîû“þ#ëû
~î‚ ¢›hßþ ¦þyîû“þ#ëû ~î‚ þ™![þ“þ £œ ›y˜%¡ìÐ

44. (b) x!‹“þ
S~„þ›ye þ™%eV

x!‹öì“þîû öîy˜

þ™%e S¢%‹˜V

45. é(b) D E S C R I B E

E B I R C S E D
~„þ£z¦þyöìî–

B O O K M A R K

K R A M K O O B
46. (c) !‰þe (i), (ii), (iii) ç (iv) öíöì„þ îœy ëyëû– 4éôé~îû þ™yŸyþ™y!Ÿ

(Adjacent) ¢‚…Äy=!œ £œéôôôé 1, 3, 5, 6 ¢%“þîûy‚– 4éôé~îû
!îþ™îû#öì“þ ç£z ¢‚…Äy=!œ íy„þöì“þ þ™yöìîû ˜yÐ ¢%“þîûy‚– 4éôé~îû
!îþ™îû#“þ ¢‚…Äy!Ýþ £œ 2Ð

47. (b) 7 × 4 ÷ 10 × 2 + 5
7 + 4 – 10 + 2 × 5
= 11 – 10 + 10
= 11

48. (c) 6 × 5 × 4 = 120
6 × 7 × 3 = 126
8 × 5 × ? = 320

îy– 320?
8 5




 îy–  ? = 8

49. (d) vþz_îûéôéþ™!Øþ› vþz_îûéôéþ™)îÅ

vþz_îû
xyîû½þ
ßþiœ

þ™)îÅ

vþz_îû

þ™)îÅþ™!Øþ›

”!Çþ’

50. (c) (7 × 2) = 14 : {(7 × 3) – 1 = 20} : : (8 × 2 = 16)
: {(8 × 3) – 1} = 23

51. (a)

²Ìí› xîßþiy˜

öÞÝþŸ˜

vþz_îû

”!Çþ’

þ™!Øþ› þ™)îÅ

vþzƒéôéþ™ƒ vþzƒéôéþþ™)ƒ

”ƒéôéþ™ƒ ”ƒéôéþþ™)ƒ

120km

80km

30km

52. (b) ¢y!îûöì“þ öœy„þ¢‚…Äy = {Sîy›!”öì„þîû ßþiy˜ – vþy˜!”öì„þîû
ßþiy˜V – 1}
= {(7 + 15) – 1}  22 – 1  21 ö›yÝþ öœy„þ¢‚…Äy

53. (c) 5
+2

7
+3

10
+4

14

25
+6 1932

+7
40

+8
+5

54. (d) UTRQP Šéyvþüy îy!„þ ‹

1L –1 2L –1 3L –1 4L –1 5L

55. (b) 1 3 7 35 41 287 295

×3 +4 ×5 +6 ×7 +8
 !˜öì’Åëû ¢‚…Äy = 287 + 8 = 295Ð

56. (c) P +1 Q +1 R +1 S

M +1 N +1 O +1 P

U +1 V +1 W +1 X

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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57. (d) ›Äy†y!‹˜ ¢Á™y”˜y „þöìîû̃  ¢Á™y”„þÐ

˜yÝþ„þ þ™!îû‰þyœ˜y „þöìîû̃  !˜öì”ÅŸ„þÐ
58. (c) DE  (4 × 5) ÷ 2 = 10

 HI  (8 × 9) ÷ 2 = 36
59. (c)

A B,
+1

Z Y,
–1

C D,
+1

X W
–1

~„þ£z¦þyöìî–

H I,
+1

O N,
–1

J K,
+1

Q P
–1

60. (c) ²Ì”_ !‰þe=!œöì„þ !îöìÙÕ¡ì’ „þîûöìœ þ™yçëûy ëyëû 4éôé~îû þ™yŸyþ™y!Ÿ
¢‚…Äy=!œ £œ ëíye«öì› 1, 3, 6, 5Ð ¢%“þîûy‚ 4éôé~îû !îþ™îû#“þ
¢‚…Äy!Ýþ £œ 2Ð x“þ~î ŠéEþy!Ýþîû çþ™öìîû ë…˜ 2 íy„þöìî “þ…˜
˜#öì‰þ íy„þöìî 4Ð

61. (b)
nrA P 1

100
   
 

 îy– 
2r4000 2000 1

100
   
 

îy– 
2r2 1

100
   
 

 îy– 
r1 2

100
 

xyîyîû 
nr8000 2000 1

100
   
 

 ¢›ëû n £öìœéôôôé

îy–  n
4 2  îy–    4 n

2 2  îy– n = 4

62. (a) ö›yÝþîû ¢y£zöì„þœ xyöìîûy£#îû †vþü öî†

2 20 30
20 30
 




 !„þ!›/‡^ùÝþy–

2 20 30
50

 
  !„þ!›/‡^ùÝþy

= 24 !„þ!›/‡^ùÝþy
63. (b) xyöìþ™!Çþ„þ †!“þöìî† = (60 – 40) = 20 !„þ!›/‡^ùÝþyÐ

 öÝþÆ̃ !Ýþ ”¤yvþüyöìî 
20 1
60 3

   ‡^ùÝþyÐ

64. (a) ~…˜– 3 M = 5 W, 6 M = 10 W
¢%“þîûy‚ 6 M + 5 W = 10 W + 5 W = 15 W

 15 ‹˜ ›!£œy ç£z „þy‹!Ýþ „þöìîû 
12 5 4

15
   !”öì̃ Ð

65. (b) œy¦þ îy Çþ!“þ

16 5 12 5 80 60100 % 100 %
12 5 150
               

100 1% 33 %
3 3

   œy¦þ

66. (b) !îe«ëû›)öìœÄîû çþ™îû œy¦þ

20 2100 % 16 %
100 20 3
     

67. (d) •!îû– Céôé~îû Ýþy„þyîû þ™!îû›y’ = x

Béôé~îû Ýþy„þyîû þ™!îû›y’ 1 xx
4 4

    Ýþy„þy

Aéôé~îû Ýþy„þyîû þ™!îû›y’ 
x 2 x
4 3 6

    Ýþy„þy

²ÌÙÀy˜%¢yöìîû– 
x x x 680
6 4
  

îy– 
4x 6x 24x 680

24
 



îy– 
680 24x 480

34


 

 Béôé~îû Ýþy„þyîû þ™!îû›y’ 1480 120
4

    Ýþy„þyÐ

68. (b) •!îû– ¦þ@Ày‚Ÿ!Ýþ 
x
y



~…˜– 
x 1 1

y 2




îy– 2x 2 y ...............(i) 

xyîyîû– 
x 1

y 1 3




îy– 3x 1 y................ (ii) 

(i) ç (ii) “%þœ˜y „þöìîû þ™y£z–
2x 2 3x 1  
îy– x = 1
(i) ˜‚éôé~ x = 1 î!¢öìëû þ™y£z  y = 4

 ¦þ@Ày‚Ÿ!Ýþ 
1
4



69. (a)
4410.000441

1000000


21 21
10 10 10 10 10 10




    

 
     

2

2 2 2

21 21 0.021
10 10 1010 10 10

  
  

70. (d)
21 16 7, ,
22 20 11

7 7 20 140
11 11 20 220


 



16 16 11 176
20 20 11 220


 



xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 10  öšþîÊ&ëûy!îû– 20254

21 21 10 210
22 22 10 220


 



 îöìvþüy öíöì„þ öŠéyÝþ ¢y‹yöìœ þ£ëû ­ 
21 16 7, ,
22 20 11

71. (b) •!îû– Ç%þo“þ› ¢‚…Äy!Ýþ = x
 îy!„þ ¢‚…Äy=!œ £œ ëíye«öì›
(x + 1), (x + 2), (x + 3)
¢%“þîûy‚ x + x + 1 + x + 2 + x + 3 = 82
îy– 4x = 82 – 6
îy– 4x = 76
îy– x = 19
¢%“þîûy‚ Ç%þo“þ› ¢‚…Äy!Ýþ £œ = 19

72. (a) 84  8961  16
      84
        561
        504
          57
Ç%þo“þ› ¢‚…Äy!Ýþ = 84 – 57 = 27,éëy– 8961 ôé~îû ¢yöìí
öëy† „þîûöìœ 84 myîûy !î¦þy‹Ä £öìîÐ

73. (b) •!îû– ~„þ!Ýþ ¢‚…Äy = x
xþ™îû ¢‚…Äy!Ýþ = 75 – x
²ÌÙÀy˜%¢yöìîû–
x – (75 – x) = 25
îy– x – 75 + x = 25
îy– 2x = 25 + 75

îy– 
100x 50

2
 

x“þ~î xþ™îû ¢‚…Äy!Ýþ = 75 – 50 = 25
~öì”îû =’šþœ = 50 × 25 = 1250

74. (b) éBôé~îû öî“þ˜ Aéôé~îû öî“þöì̃ îû ö‰þöìëû öî!Ÿ

25 100 1100 % 33 %
100 25 3 3
      

75. (b) !“þ˜‹öì̃ îû öî“þöì̃ îû ¢y•yîû’ vþzêþ™y”„þ = x
x›öìîûîû öî“þ˜ = 3x. !„Ïþöì›öìrÝþîû öî“þ˜ = 5x,
†öì’öìŸîû öî“þ˜ = 7x
²ÌÙÀy˜%¢yöìîû– 7x – 3x = 860
îy– 4x = 860 îy– x = 215
!„Ïþöì›öìrÝþîû öî“þ˜ = 5 × 215 = 1075 Ýþy„þyÐ

76. (a) •!îû– Aéôé~îû î“Åþ›y˜ îëû¢ = 5x îŠéîû
Béôé~îû î“Åþ›y˜ îëû¢ = 3x îŠéîû

²ÌÙÀy˜%¢yöìîû– 
5x 9 23
3x 9 12





îy– 69x – 207 = 60x – 108

îy– 9x = 99 îy– x = 11
15 îŠéîû þ™îû “þyöì”îû îëûöì¢îû x˜%þ™y“þ £öìî
= (5x + 15) : (3x + 15)
= (5 × 11 + 15) : (3 × 11 + 15)
= 70 : 48 = 35 : 24

77. (a) ”%£z îõ%þîû ›)œ•öì̃ îû x˜%þ™y“þ = 16000 : 24000 = 2 : 3
ö›yÝþ œy¦þ 3375 Ýþy„þy £öìœ

²Ìí› îõ%þîû œy¦þ 
23375 1350
5

    Ýþy„þy

!m“þ#ëû îõ%þîû œy¦þ 33375 2025
5

    Ýþy„þy

78. (d)
nrA P 1

100
   
 

 îy– 
310A 10000 1

100
   
 

îy– 11 11 1110000 13310
10 10 10

   

79. (c) !ßþiîû ‹öìœ ö˜ï„þyîû †!“þöìî† 
12 8 10

2


   !„þ!›/‡^ùÝþy

!ßþiîû ‹öìœ 24 !„þ!› öëöì“þ ö˜ï„þy!Ýþîû

24 2.4
10

   ‡^ùÝþy ¢›ëû œy†öìîÐ

80. (b) A ~„þy ¢Á™)’Å „þy‹!Ýþ „þöìîû = 5 × 3 = 15 !”öì̃

B ~„þy ¢Á™)’Å „þy‹!Ýþ „þöìîû 
510 25
2

    !”öì̃

A ç B ~„þöìe „þy‹!Ýþ „þîûöìî

15 25
15 25





 !”öì̃  

39
8

  !”öì̃

81. (d) •!îû– B þ™y£zþ™!Ýþ t !›!˜Ýþ þ™îû îõþ „þîûy £öìëû!ŠéœÐ

²ÌÙÀy˜%¢yöìîû– 
12 t 1
18 24

   îy– 
t 121

24 18
 

îy– 
t 6

24 18
  îy– t 8

 8 !›!˜Ýþ þ™îû îõþ „þîûy £öìëû!ŠéœÐ
82. (b) Béôé~îû öî“þ˜ Aéôé~îû öî“þöì̃ îû ö‰þöìëû öî!Ÿ

25 100 1100 % 33 %
100 25 3 3
      

83. (a) vþz¦þëû !î¡ìöìëû „,þ“þ„þyöìëÅîû £yîû

  100 17 18 5 %   

 100 30 % 70%  

84. (d)
2A 50 25B C
3 100 10

   

îy– 
2A B 5C
3 2 2

   îy– 4A 3B 15C 

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers
1 1 1A : B : C : :
4 3 15

 

[  4, 3 é~î‚ 15ôé~îû œ.¢y.=. 60]
1 1 160 : 60 : 60
4 3 15

     = 15 : 20 : 4

85. (c) “þyöì”îû ›)öìœÄîû x˜%þ™y“þ = 13 : 11 : 7
“þyöì”îû ›%oyîû ¢‚…Äyîû x˜%þ™y“þ
= 13 × 1 : 11 × 2 : 7 × 4 = 13 : 22 : 28
~…˜– ²ÌÙÀy˜%¢yöìîû– 13x + 22x + 28x = 378
îy– 63x = 378 îy– x = 6
 25 þ™ëû¢yîû ›%oyîû ¢‚…Äy = 28 × 6 = 168!ÝþÐ

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


